DIVISION WISE TRAFFIC FLOW IN S.E.R

S.E.R ADRA CKP KGP RNC

poxN  [TL [ey |p Jow|w [[|Boxn |TL |[ey |D [ow[w BoxN  [TL [ey |b Jow|w [[|Boxn |TL |[evy [D |ow [iw BoxN  |TL [evy |D |ow

OB | 528] 194 | 334 159 179 OB | T3] 40| 69 33 30 OB | 27108 | 179 oo 89 OB| M2] 41| 71 29 49 OB | 2| 5| 21 19

TO | 113 24| 89 30| 59 TO | 92| 13| 79 35| 44 TO | 108 | 33| 75 26| 49 TO | 57| 12| 49 15| 30 TO | 38| o 29 47

RL 72| 73 72 RL 22| 23 22 RL 29| 29 29 RL 21] 21 21 RL

LD 79 | 79] s2| 27 LD 8l 8 7] 1 LD 59 | 59] 43| 16 LD 12 12) 2] 10 LD

MO | 105 16 | 89| &9 Mo 79| 25 | 54| 43 11 Mo | 101 4] 99 72 o5 Mo 65 23 | 42| 18] 24 Mo 42 7| 35 19

CB| 536] 195| 341 148] 193 CB| 116 40| 74 32| 42 CB| 294 107] 184 87 100 CB| 104 39| 69 21] 44 [CB| 22| 7] 14 3§

% 49.0 57.4 40.2 % 82.5 130.9 73.3 % 58.3 80.0 32.6 % 85.4 81.4 42.9 % 140.4 190.
BCN TL |ey |p [ow[iw BCN TL ey [D [ow|iw BCN TL |[ey |b [oww BCN TL |ey D [OW W BCN TL gy [D [ow

OB| 9| 31| 64 44 16 OoB| 4| 10| 14 19 4 oB| 33| 7| 24 14 10 OB| | 13] 23 o9 > OB 2 1

TO 35 11| 24 49| 5 TO| 14| 5 TO| 22| 12| 10 o 1 TO | 27| 7| 20 13| 7 TO 41 2] 2

RL 5| 9 5 RL 2| 3 2 RL 1] 1 1 RL K 2 RL

LD 11| 11] o] 2 LD 2] 2 2 LD 6| 6] 4] 2 LD 3] 3] 3 LD

Mo 271 4| 23| 23 Mo 19 8| 1 9 2 Mo 13 13 7 MO 24 9| 15 15 Mo 3l 2 1 1

[CB| 703 32| 71 53 18 [CB] 19 7 14 o 3 [CB| 42 14| 24 27 6 [CB] 39 10| 24 279 7 CB[ 3 |

% 48.4 474 31.3 % 100.4 90.4 50.0 % 85.7 43.4 10.0 % 92.3 71.4100.0 % 2004 100.
BoBrRN | TL |ey Lp [ow|iw BOBRN |TL |[ey Lp |ow |iw BOBRN |TL |[ey Lp |ow iw BOBRN |TL |Ey |D |OW |IW BoBrRN | TL [ey Lp [ow

oB| SS9 5] 29 o 16 oB| ™| 2] 19 3 10 oB| B 3] d 4 4 oB| ? 2 2 OB

TO 6 1 5 5 TO 4 4 1| 3 TO 3] 3 TO 6 9 6 TO 1 1|1 4

RL 7] 1 7 RL 5] 9§ 5 RL RL 2| 2 2 RL

LD 6l 3] 3 LD s 8 1] 2 LD 3| 3 o] 1 LD LD

MO 8l 1 7 7l MO 6] 2 4 4 MO 8| s 4 4 MO 1 1 Mo 1 1 1

CB 28} 6| 21 5 17 CB 13| ol 1 1l 10 CB 8| 3 ] 4 1 CB 7l 1 q 6 TB

% 140.d 77.4 43.8 % 250.4 133.4 50.0 % 100.d 66.1 0.0 % 0.0 0.4100.0 % 0.0 0.
BostT | TL [ev |p [ow|w |||Bost [TL [ey |D [ow[w BosT  |TL [ey |D [oW|w || |BosT [TL |ey |D [owW|w posT |t [ev [p [ow

oB| [ 3] 4§ 4 2 OB 3 i 4 2 OB 3 4 4 OB 1 1 1 OB T 4

TO 4 2| 4 2 TO| 2 4 2 TO 31 2| 1 1 TO 1 1 1 TO 3| 2 1

RL 1 1 1 RL 1 1 1 RL RL RL

LD 1 1 1 LD LD 1 1 1 LD LD

MO 2 2 2] MO 3 3 2 1 Mo 1 1 1 MO 3l 2 1 1 o

CB 13 5 71 1 CB 2] 1 1 [CB B 3 9 5) CB -1 -2 1 CB 4 3

% 33.3 33.4 50.0 % 0.0 200.4 50.0) % 50.0 25.0 0.0 % 0.0 100.0 0.0 % 0.0 0
STEEL TL |gy |D |OW |IW STEEL TL |y |D |OW |Iw STEEL TL |y LD |OW |Iw BTEEL TL |ey |D [OW [IW BTEEL TL |gy |D |OW

OB | S% 37| 41 29 22 oB| ] 8] 4 9 3 OB| #°] 20| 24 19 o oB| 5 qd 49 6 OBl O s 4 1

TO 9 5] 4 4 TO 8| 51 3 3 TO 8| 5| 3 TO 5| 2] 3 3 TO 3| 4 d 2

RL F1E 3 RL RL 1] 1 1 RL 2| 3 2 RL

LD 11| 11] 10] 1 LD 2] 2| 2 LD 91 9 s8] 1 LD LD

Mo 10 3 7 7] Mo 4 2 2l 2 Mo 12| 3 9 9 Mo 3 3 3 Mo 6l 6

CB| 89 a1 51 32 20 CB[ 11 o 5 3 CB| 24 14] 34 21 o CB] 19 o 1 3 2 B[~ 1 3

% 78 284 136 % 500 [100.d 0.0 % 50.0 474 111 % | 0.0 100.q 33.3 % 1204 0.
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